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7 Vypotitej.
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5:1{31 Vypodite;.
a) 629,46 + 0,7 =
b) —-635+486=__
c) 6,23 -4,196 =
d) 14,4:(-1,2) =

e) 75,01:0,07501 =

£) (84+35:5):7=
g 122.44012=
B 3,6-06-06=
) 256:16-16=
D) (25:05+5):2=

249 Rozhodni, zda se jednd o ¢iselny vyraz. Svoji odpovéd zdavodni.

2) 3 7
5 49

b)  45+2-(16-5]

+ 2|

©) 6-3.7

Q) (-3) - [-9-(5.-2)] _

2U5 Vypoditej.

a) 1-9—151:4 +1-31 -

by [-41-1-2 -4 - (-I-4l) + |-11l =
) 1+71 + 1-31 - 1-61 + [-11] =
d) [-51-1+3l-|-5l-1-2-1-9] =

e) 121 - 1-5l + |-3l - 1-4 + 8l =

1 Vypodite;.

a) -+ +t35+ =
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-6l =

€) %—2 +3
f) 61,2+ (-0,75)-0,5
g) 2-4-7.-3
h) (9-5)-2

poCitam s desetinnymi Eisly 112(3|4[5(6|7[8|9]10
302 Vypotite;.
a) 3+ (-11)= g) - (+18) =
b) (-6)+(-14)=____ _  h 5 (-12) =
c) 4+ (-111)= _ i) 131 + (-19) + (-19) + (-19) = _
d) 63+ (-151) + 151 + (-63)= j) —43+51—15+19= .
e) -8-(-(6-(-3-5))) = k) (-42):6-(-72):9=
£y 7)) (-1) (+6) : (-6) = § y (=75) 1 ((-9) - (=2)) = _
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